CUT AS SHOWN ON THE BACK TO SEE THE
CALCULATION EXAMPLE AND IMPORTANT NOTES AS-2222
INSIDE THE BOX.

POWER SUPPLY | English|

This calculator comes with a dual power source. The duration of alkaline battery depends entirely on
individual usage.

. . Al x (NOTE: Do not attempt to changed the battery by yourself. Have a Canon Service Center changed the
Calculation Example / Contoh Perhitungan / A&t of| | battory for you)
Calculation Operation Display Il Electromagnetic interference or electrostatic discharge may cause the display to malfunction or the
E ﬂ contents of the memory to be' Io§t or altered. Should this occur, press thekey and re-start
your calculation from the beginning.
L5/4% +4320F
S0 ra3zor USING THE MEMORY
v MIXED  — |
2x2@®=6 % 5 3 Ig E 6 000'; This calculator has two versatile memories that will accumulate or deduct results automatically either
—7x9= —63 7 oo B8 63‘00 with (M) or (M3)in the first memory. Alternatively, either with or for the second memory.
(2+4):3x8.1=16.2 243N 018 E 20 SPECIFICATION
. Power Source: Solar Cell and Alkaline battery (LR44 x 1)
Vv Add Mode 1i2208 Automatic power-off function: Approx. 7 minutes
L — Usable Temperature: 0°C to 40°C (32°F to 104°F)
$14.90+$0.35-$1.45=13.80 1490 €335 (9145 ( 13.80) Dimensions: 192mm (L) x 140mm (W) x 32mm (H) / 7-9/16" (L) x 5-33/64" (W) x 1-17/64" (H)
Tiaaor Weight: 198 g (6.7 0z)
V Floating Calculation — | (Subject to change without notices)
8+3x3.7+9= 18.8666666666 sE@3@3D70B8 ( 18.8666666666) CATU DAYA Bahasa Indonesia
- ; Taavor Kalkulator ini dilengkapi dengan dua buah sumber daya. Umur baterai alkalin hanya tergantung pada
'V Reciprocal Calculation I penggunaan masing-masing.
(CATATAN: Jangan mencoba mengganti baterai sendiri. Mintalah bantuan Canon Service Center untuk
1/7=0.142857142857142 4-=1=) ( 0.143) mengganti baterai untuk Anda).
+a3z20r B Gangguan elektromagnetik atau lucutan elektrostatik dapat menyebabkan kerusakan pada tampilan
¥ Memory I, II  — ] g) atau isi di dalam memori hilang atau berubah. Apabila yang demikian ini terjadi, tekan tombol
Memory I 2 £ dan ulangi kalkulasi Anda dari awal.
243x12= 2,916 243 €8 12 (M1 2'916.00) (&) Is MENGGUNAKAN MEMORI
576 x 25 = 14,400 576 €9 25 (M1 14'400.00) 'g <é KaIIl<uIator ini dileng!(api .dengan duah memori sgrba guna yang akan menjumlahkgn atau mengurangi
+) 387 x 45 = 17,415 387 68 45 (mr 17'415.00) G g— % r;\:illlls:;aura otomaﬁ:ifsxg:qggia:e-x; atau [@ di dalam memori pertama. Sebagai alternatif, baik dengan
34,731 (Recall memory) (mr 34'731) g o -S-P_ESIFIK-MASI '
- w
—) 456 x 32 = 14,592 456 €9 32 W3 (M1 14'592.00) o 5 S Sumber Daya: Sel matahari dan baterai Alkalin (LR44 X 1)
20,139 (Recall memory) (™I 20'139.) 28 A Fungsi otomatis power-off : perkiraan 7 menit
(Clear memory) ( 20'139.) ¥ 5 S aS Syhu Operasi: 0°C sampai 40°C
——————————————————————————————— Ic 5 S Dimensi: 192mm (L) x 140mm (P) x 32mm (T)
Memory II o< 58 o= Berat: 198 g
14,377 + 78 = 14,455 14377 €3 78 (M1 14'455.00) ‘é’ 8 5 $ =z § (Dapat berubah tanpa pemberitahuan)
+) 3,761 +86 = 3,847 3761 €3 86 (M 3'847.00) T o £ 0o
0o 4 Z - = =
18,302 (Recall memory) (M1 18'302.) =9 % 03 e 3= R h=0]
-1 — [=] K=) =
-)7,356-654 = 6,702 7356 & 654 (m 6'702.00) f, © & BE = 7| A= eEf 2T X2t L& slE{2] e 271X M-S ALESt2 JAESHCL.
11,600 (Recall memory) (M1 11'600.) ﬂg ? 8w o] §, (39| : /o2 HiE{2| & WA 5HA| OIAA|2, 7= AlH|A ME{o|A] HiE{E| &
(Clear memory) ( 11'600.) % 5 < S Qg: & WHHFOAMA|2 )
23 ?g L B A EA7| W 2 elet £ LR 7|AEX|el Y& 24-HEFo| US 5
V¥V MARK-UP/DOWN S22 — =
Mark up : Cost = $2,000 g:iggfﬁé A&HCLt o] 2ol HES =3 AIESHAIR.
Profit=20% of selling price ZN2S T g3 L o L1 £ =]
Selling price = ? ($2,500) 2000 &3 20 [wy] ( 2'500.00) o é CEofm %’ HZe2l 280t
Profit = 7 (8500) wy] ( 500.00) Fe Uolicg 2 7|AE F H=a7t A&Hch Lt (M3 2 R 1M Z2le AuEE AE22
£ -
Mark down : Sfelling price = $2,400 §8 2 EE o gg E K| ZH/ AR EF 4= Q&L CH BHHE, M 2M 22| = - 2 gych
Profit = 20% of cost ) QOgn
Cost = 2 (52,000) 2400 €3 20 [ Wyl ( 21000.00) = ot = g, = Ar
Profit = ? ($400) [mu] ( 400.00) %L-';%g %g; el : B QLM K|of YA HYE|E] (LR44 X 1)
V¥ OVERFLOW IS0 o< IS FA QT Js: % 78
123456789x78900= 123456789 E@ 78900 B (e 9.74074065210) O-z0mNO= A8 2 : 0°C~40°C =
9740740652100 ( 9.74074065210) o=
(ERROR)—] 20 X|Z=: 198mm (L) x 140mm (W) x 32mm (H)
o0 (;R-(IIZ-OR) i 2 ) 8; sg: 198 g
(Uelzp¥E 7HsM AI) E-IM-2456

Note: The calculator plastic case is made from Canon copiers’
recycled plastic which might have black dot(s) or uneven plastic color.



